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® Week 8: Solutions
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Analytics
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Energy
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Week 8: Assignment 2

The due date for submitting this assignment has passed.

As per our records you have not submitted this assignment.

reviewero@nptel.itm.ac.in

Announcements  About the Course  Ask a Question Progress Mentor

Due on 2021-09-22, 23:59 IST.

Specifications of a motor are as follows: Rated Current: 160A; Rated Torgue: 22Nm; Rated Voltage: 34V, Rated speed: 3500 rpm; Max speed at no-load:

4400 rpm.
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If the motor is operated with a new controller of BOA current limit {the voltage limit being unchanged, at 34V):

1) What is the rated torque of this motor-controller combination?

22 Nm
11 Nm
44 Nm

Mone of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
11T Nm

2) What is the rated speed of this motor-controller combination? (Choose the nearest value)

3500 rpm
1750 rpm
7000 rpm
Between 3500 to 4400 rpm

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Between 3500 to 4400 rom

1 point

1 point

3) What is the rated power of this motor-controller combination? (rounded off in KW, to the nearest whole number?) 1 point

8 kW
4 kW
2 kW

Mone of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
MNone of the above

4) What is the maximum speed, at no load, of this motor-controller combination? Assume no flux-weakening.

3500 rpm
8800 rpm
4400 rpm

Mone of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
4400 rpm

If the same motor is operated with a new voltage limit of 68 V (the current limit is unchanged, at 80 A):

5 What is the rated torque of this motor-controller combination?

22 Nm
11 Nm
44 Nm

Mone of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
1T Nm

6) What is the rated speed of this motor-controller combination? (Choose the nearest value)

3500 rpm
1750 rpm
7000 rpm
=000 rpm

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
>7000 rpm

71 What is the rated power of this motor-controller combination?

8 kW
16 kW
4 kW

Mone of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
None of the above

8) What is the max speed, at no load, of this motor-controller combination? Assume no flux-weakening.

8800 rpm
5000 rpm
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Mo, the answer is incorrect.
Score: 0

Accepted Answers:
171 Nm

6) What is the rated speed of this motor-controller combination? (Choose the nearest value)

3500 rpm
1750 rpm
7000 rpm
=000 rpm

Mo, the answer is incorrect.
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1 point

1 point

1 point

1 point

1 point

1 point



